THE PRODUCT RULE

1 Use the product rule to find the derivative of each function.

(a) }’=(-’(-2)(6X+’7) (b) f(x)=(2x+1)(x+3) (© y=0x+4)(x"-2x)

@ g=(x-D&"=3x) () y=(2=5x)(x=2) M f0)=( -4 +3)

a) 3: wh) x v wh W = -2 and vO) = Ex+F
u,/(l) = | V/[)(_) =

0 dﬁ _ W) Vi) + wbo VB

ﬁ— | (6x47) 4 (-2)x 6 = 6x+F+6x - 12 = 12 _5
) wh) = 2x V=43 dy 2 ) (43) [ x(2eH) = hx + F
w0 = Vi) = | v3
) Wk = 3x+a Vi) = X*-2x
w0 = vid = Lx -2

;lfi 3(12 20) +(20-2)3xH)= 9P 6xt8x - 6x -8 = T’ ~hx -8

d) wl)= - Vi) =1F-3c
Wy=2x -3

W)= V)= aaa
ig. :JX(xZ—-.Bx)+(21-5)(7C")=32(7’—37L—27(_«39L+3=—_ 15-38«
A
e) wh)= 2x2-5x vix)=

W)= br=5 va) =] e
%— = [41-5){1-2)%[211—5;) _ {qt ~8x-5x-Sx +10 =01~ B
oL
é) W) = - b Vi) = £+ +3

W) =20 -4 Vi = 22

%ac (2x - 4) (1243) ) + 2 (12~ bx)

%L Jdo bt g -l + 210 - 8%
T B
L
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THE TRUDUGE RULE

4 Forg(x)=(+50)(’+ X +1),find: (@) g'(x) (b) g'(1) (©) ¢'(=2)

‘*) g(l);—_ Wb x vl wk wh) =2>+5z vhd= X2+ 22+
u/(x\ v+ S vi)=3x*+2x

/[7(\ = lk/(x) Vi) + V (AR )
W) = [27_+5:([13+ 12+|} 4—[3# r2)[ % + 57 |

4 ol 31 0r?
W)= 21" +2x°+2x FEx® +5x2 45 + 3+ ISP+

]
3’(L\:5x"+zlf >+ 15x*+ 2+

d
/ 4 3 *y 2x1+ 5
b) j(t): Sx 11426 x 1P+ 15x17

glj= 5+24 415 +2 45 = 5

: (j’{..z) s f) 4 2x( )+ IS H xS

J

L) 5xle —24x8 15X =4 +5
3’(~2) 80— 19) +60 —4+5
§'(1) - =5
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THE PRODAUCT RULE

5 Find%for: @ y=vx(x=1) (b) )’=.t(J;—l) © y=x(}+|)
- (AT - S S B
Y wh=fx - x -0 z Z J2%n 20K
Vb = x - | vi) =1
N2 N Py rasy SIS x -1+ _Jx-|
ey M= Iz W=
b) W) = X W)=
/
\/(L):_L_—
V[X.):\/;:—-i Z_\f;z
Mo () b e =)+ B2
ﬁ' 2% 2

Ok, - Allounalcve matiled, b(‘} = J ( !
3 PR Y s B!
3:xJZ—9L=9@ ~k o B =S -1=2

/

¢ whd =% W) = | |
) 5 5 /50 \//(x)z—?c o o e
v(x)z_;zH-_—_xH ‘

| rf-1 Y xx = L4+]-1L =1
%:Ix(i+l> /ﬁ) Z r
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THE PROUDUGT RULE

5 Fmd%fm: (d) )’=(3J;+l)(.t3+4) (e) )'=(X+ji—)(x-%: ® }’-(x:+7‘3—)(l+f;)
4) uf) = 3\ +1 W= 3
2%

Vi) = X244 v = 2xc
é‘é _ o (%Z—Hf) +2)L(3J—x__ F1) = 32+ 12+ Bz t2x

B2 L+l a P bl _ 1522 +hale + 12 _I5xp 2+ 6
- N 2z 2 Vx
& 2|

R by expuding fusdts =30 ¢ 12fe v Xt b4 =3k + 12l
%‘?‘l—:ﬁx%‘h@_*‘lx:lﬁ_x\l{ +_\{67: +2x

2 2 [z 2 Z B
xi_ |+ -1 = xhl_zzx"-;c
e/ ‘Ex,wxdwa {jvx.a’(" az = -
-2- -3
d _2x - (AT = 2x4 L L= 2L
L

| 9:12+12JZ+,2_+,2._
X

[ g [t | i

So gsx“r X +2x

_—

-

-—

ol sl 50a
%Siz zau—éixz +2x(-) X +zx(3)

)

-3/

%}L, 2 x ysaxt_2xt X
_ : .

450 =2 —
%:Zx %ﬁ 7
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